Challenging Math Problems
Problem 1. There are 2 rings and 6 triangles. Move the rings and triangles so that each ring has 4 triangles in them. 
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Problem 2. How many squares and triangles are there in the following drawing?
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Problem 3. How many rectangles are there in the following drawing?
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Problem 4. How many triangles are there in the following drawing?
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Problem 5. How many triangles are there in the following drawing?
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Problem 6. The drawings below indicate fruits on balances. Which fruit is the heaviest? Which fruit is the lightest?
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Problem 7. The drawings below indicate animals on balances. Which animal is the heaviest? Which animal is the lightest?
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Problem 8. Of all the numbers between 0 and 99, how many times does the digit “1” appear? 
Problem 9. Smart calculations: 
A) 88 + 87 - 88 = 
B) 478 + 30 - 278 = 

C) 531 + 199 =
D) 343 - 199 =

E) 12 + 82 + 65 + 18 + 35 + 88 = 
Problem 10. There are 5 red socks and 5 black socks in a drawer. If Nicholas picks socks without looking, how many socks does he need to pick in order to be sure of getting one pair of socks?
Problem 11. There are 9 red socks and 9 black socks in a drawer. If Nicholas reaches for socks without looking, how many socks does he need to get in order to be sure of getting TWO pairs of socks? 
Problem 12. A rectangular pool is 10 meters long and 8 meters wide. If you place flower pots around the pool 1 meter apart, center to center, how many flower pots do you need? (There should be a flower pot at each corner of the pool.) 
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Problem 13.  Add  +,   ̶  ,  x,  and  ( )  signs to make the equations work: 

A)  2   4   3   1  = 12
B)  2   4   3   1  =  14
C)  2   4   3   1  =  23
D)  6   5   4   6  =  24
Problem 14.  Add  +,   ̶  ,  x,  ÷  and  ( )  signs to make the equations work: 
A) 1 __ 2 __ 3 = 1
B) 1 __ 2 __ 3 __ 4 = 1
C) 8 __ 3 __ 4 = 20
D) 12 __ 3 __ 5 = 9 
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